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QUESTION 1

See the following specification: 

How many test situations can be distinguished for this specification when the coverage type decision points modified
condition/decision is used? 

A. 2 

B. 6 

C. 8 

D. 64 

Correct Answer: C 

 

QUESTION 2

During the test execution of a large customer registration system, the system went down for several times. Although
there were no test cases described the tester concluded that the continuity was poor. Which testing method is described
here? 

A. dynamic explicit testing 

B. dynamic implicit testing 

C. static testing 

Correct Answer: B 

 

QUESTION 3

The test infrastructure consists of facilities and resources required to conduct testing effectively. Which facility does not
belong to the testing infrastructure? 
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A. test environments 

B. test design techniques 

C. test tools 

D. workplaces 

Correct Answer: B 

 

QUESTION 4

What does a software engineer have to demonstrate at the very least during development testing? 

A. That the product meets the functional specifications 

B. That the product meets the non-functional specifications 

C. That the product meets the technical specifications 

D. That the product meets expectations 

Correct Answer: C 

 

 

QUESTION 5

See the specification below: IF Dutch telephone number AND telephone number does not contain 10 digits THEN error
message ENDIF How many logical test cases can be generated if a semantic test using the coverage type decision
points modified condition/decision coverage is used? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: C 
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